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Instructions: Put your name on the top before beginning. On your own paper answer
the following. For problems 1-12 number your paper and write the correct word that will
best fill in the blank(s). In problems 13-15 show all pertinent work and box your final

answer. -l <
Center Data Description Design Inference = 3
Interval Nominal Ordinal Parameters Population =
Qualitative Quantitative | Random Sample | Ratio Sample e
Sampling Shape Statistics Variation 4
w2
-, 3 The art and science of learning from data is called Yot g\' NMCD> . _‘;
¥4 The range is a measure of Ny Q11 DY ' [ e
. o I The two main classifications (types) of data are \ \Je& and “Tl .
gua\irative <l n
t+2 4. There are two types of quantitative data. They are Loy iO and &
wateruo o+
S The two types of qualitative dataare __ Nomina | and e 441
DIAING) 4
+1| 6. The information that we collect from experiments or surveys is called ' 2\
E doYa ~_1 »
+( 7 Planning the methods for collecting the data to study the tolerances of ball 4 LL o
bearings would be an example of the GesS\av) aspect of statistics. o |
+.1 8 A stem and leaf plot can be used to see the of data. ©
-+ 9. A _CANAOM SaMDp\e. assures that the sample will be representative of the F
population. i oo
4| 10.  The median is a measure of __CENYeY T
s 11.  The population Yome: can be inferred from sample statistics. f, - ‘r -
41 12.  After collecting the data it is shown that in a given election 72% of registered r .
voters voted. This is an example of the Qe \\?{'\or\ aspect of statistics. 3 + 4
; ‘ w1
:Q\(;LL\QJV\ o) 13, Usi% the following data which represents the time in hours, that 18 professional = |
SNoWN + ANSWEY fimess experts spend working out. Stem (x1) | Leaf (x 0.1) gs\ 1
_ T B 11022339 7 111 +
+2a) Find the mean of the data. X~ ¥ = 11§ = = 3 o |
2 \b) Find the mode of the data. mode =8.2  =v_ 755 7 553 &
- i %49 €10c) Find the median of the data (include the indicator ﬁéction). 7 Al
+2d) Find the range of the data. (\ange=3.4-F)=|.® 7 5595 ~71
F._Tm::\ ¢) hgind the variance and the standard Seviation of the data. |- 0%2 ' al
l§;" q"g"”'?) ind Q;\an (include the indicator function). (3= 1.6 G;z &2 o | b
+lo'g) Drawa boxplot that "r"ép?ésqe‘n% this data. Make sure that itis scaled)-> 2222 - ] 3 \¥
T 42h) Calculate the IQR? %.2~75 = (), g a7 5
£
g 8 9
e ™\) \ 472692 | 465604 2Lk ORT283686S
2 Sxt-{Tx ) R 3 O 23l3F 565 0.
-.-:J%"' hbe=ln), R (109544) = (1902 70.8% .0 53 !erfg o8|
| nn=Y) 180 206 g (N i 1=b
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Sticky Note
This is from Test #1a not Test #1b, so look to page 2 for your answers!


™, L The population _PAX A\ NXCYS  can be inferred fro sample statistics.
+2 2. The two main classifications (types) of data are_C LNt 7t /& and
cua\trakive 4

i 2 There are two types of qualitative data. They are Y\OY"\ ' \\"QL l and
aranal .
+Z 4. The two types of quantitative data are yotio and
Arver G\ ; \
4+ | 5. The art and science of learning from data is called &\‘ c.'«l:\ 1:..'% \C ‘_5
bt 6. The information that we collect from experiments or surveys is called
o+
+1 7 Planning the methods for collecting the data to study the tolerances of ball
iy bearings would be an example of the de S\ aspect of statistics.
8 From past figures, it is estimated that 37% of voters will vote in the November
~ elections. This is an example of the _\ N Y€ e\ \¢&. aspect of statistics.
i A Candom SOmMDE.  assures that the sample will be representative of the
population. \
! 10.  The mean is a measure of ¢ QPY\'\'C. X
T 11.  The range is a measure of /Y L CATT O

+ | 12. A histogram can be used to see the S\ha Ve of data.
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Use IQR as a criterion. \ SATar = (18)(0¥)* .68

+2 L{) Should we consider the maximum data point to be an outlier? No b/¢ R s win

-&-23_ Using the stem and leaf and the mean and median to support your answer, talk about .
the skewness of this data. 1ne A&TA\S Tiarry S eweé;ﬁe \ook at the 3mg\'\-c.s bt
+2 b &) Find the z-score of the 8" data point from the top. it we, 0“5\’3%‘ ,}Nb' mear ¢ median this
If this data were symmetric, what should you expect he 8% data po?ms z-score to be :
approximately)? 5= ) BiNce s near the center ot the dota,

?, % - 7! = Q"o-\ S 0 ; o
7= Wl s g & o2
14.  For the following data which the dependent variable represents the percentage

grades for 15 randomly chosen statistics students. The independent variable is the

number of absences for each student. = X 1Y
+3 a) Draw a scatterplot for the data. si\es %, Scale L ovaes \"“ri’ 5 179
+2 b) Do you see any correlation? Is it positive or ne_%ative or zero? Nﬂ.g? 6 178
x)- ¢) Find the measure of the correlation —r. = oA > T%6
+2 d) What is r* and what does it measure? o= S L -CB‘ > 156
+5 ¢) Find the regression equation for this data. abieq, 5 175
v2 f) Predict the grade of a student that has missed 3 days of class. works sceic 5
;00 -4+1g) What is the residual of the observed (9, 81)? gred.xesd, 2 O b S Eiame
) Whatlhe SUSS 1] ok
% Loy L'sf‘g.ﬁ 8 (62T3) - (aY 1\5b) 15 |48 |: __'f_j,?ﬂj._...
¢ .Lti"(s':# O ‘.%85;“ = J s 1/ Sene - T 0 92 T T %0, Y62
4 \ > w ) - 16) = L ———
_g’ ‘h% .L\’ .l‘:"‘;“ ..(u“l:{\h\q ) Tsyc“:}?ﬂ:g;l \ \:" 'aﬁ}‘- '-‘355%335 ; g? ré -0. S’S “
o 27235 S ————
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“‘ 0_“_ _‘\___,\_,__\__,. ----g lﬂﬁ-—k&‘-' . i t'q = \\C cel \’("f,g'ﬁ o 11 5 nz‘]. o 'Ci‘j:p
opeence € cpastati on = 15(6473) ~(Q9 )(1I%)
'-“B D22-142(4)15. Fo? the foﬂowing %‘equency table representing 100 1:weop1e1"\hsJk X . %2%%_22— f_-”-{:é
L) ,242 systolic blood pressure in mmHg. The ages of the people in this ] E‘B%
R ot study were 25-40 years old. = = :
es\dua| |42a) Find the class width. WO -\00= \O Class (mmHg) | Frequency 2 2,42
Q| ~7).241 | ¥1b) What is the lowest class boundary? 44% 100-109 15 T .uI7828 773
= q. 16 't\c) Whatis the 1* class midpoint? Y04.3 110-119 35 iy
5 1% 4|d) Whatis the last class’ upper class limit? 159 | 120-129 25 it B ey v
4°) Draw a histogram for this data. 130-139 15 = -b¥%
Label it correcly. Bc’:ﬂ?g““ or Midgonts 140-149 8 i © ot
- §“ < 150-159 2 S M FaumsTRY,
- | : 93.02.2
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Systolic Blood Pressure. (mmha) o i 35





